(M10 Ch 5 Gifted and Enrichment Answers continued)
.…BLM 1–16.…

(continued)


Chapter 1 Gifted and Enrichment Answers

1. Length: l = 2(35) + 2; l = 72

Since 12 in. = 1 ft, 72 ÷ 12 = 6.
The shed is 72 in. or 6 ft long.

Since 1 ft ≈ 30.5 cm, 6 ft ≈ 183 cm.
The tractor is 180 cm long; therefore, its length will
fit in the shed.

Width: w = 4 ft

Since 1 ft ≈ 30.5 cm, 4 ft ≈ 122 cm.
The tractor is 120 cm wide; therefore its width will fit 
in the shed. The tractor will fit in the shed.

2. Convert yards to centimetres:
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The strip of coins is approximately 6126.48 cm long.

Calculate the number of coins.
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Gail collected approximately 2450 coins.

3. a) Since 3 ft = 1 yd, Hal’s painting is approximately 1.3 yd by 1.3 yd. The 1.5-yd by 1.0-yd canvas will not accommodate the painting on the shorter side. So, Hal should buy the 1.8-yd by 1.5-yd canvas. Alternatively, Hal could use a referent to estimate the size of each canvas.

b) Since 1.5 m ≈ 1.5 yd, Hal will need approximately one 1.5-m by 1.5-m square of unframed canvas to accommodate his painting.

Total cost = cost of canvas + cost of framing

Total cost = $34.99 + $20.00

Total cost = $54.99 

Purchasing unframed canvas and framing is the 
least expensive option.
4. Length of ship:
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The length of the ship is approximately 60.96 cm.

Width of ship:
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The width of the ship is approximately 27.94 cm.

Height of ship:
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The height of the ship is approximately 20.32 cm.

60.96 < 75; 27.94 < 30; 20.32 > 20

The length and width of the ship will fit in the 
aquarium, but the top of the ship will stick out. 
Therefore, this is not a very good choice of ship for 
the aquarium.
5. 1.8 m + 2.6 m = 4.4 m. Sam’s height plus the length of the ladder is 4.4 m. If Sam had a reach of 0.6 m, he could possibly reach the lower branches. This seems like a long way to reach. For safety reasons, the ladder must lean up against the tree, which reduces the effective height of the ladder and means that Sam must have a reach of more than 0.6 m. For safety reasons, Sam cannot stand on the top rung. No, Sam cannot trim the tree using a ladder that is 2.6 m long.

6. Look for two methods.

Method 1:


[image: image6.wmf]552.54 cm10 mm

16161 in.1 cm

 in. in.

7.9 mm

æöæö

=

ç÷ç÷

èøèø

»


The 
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 -in. drill bit will make a hole that is larger than the 5-mm bolt, so the bolt will fit in the hole.

Method 2:
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The 5-mm bolt is smaller than the 
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-in. drill bit, so 
the bolt will fit in the hole.
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